2021 WL KFEMBAE R FENZ B (FEEHF)D

HEIES w4 235 SpkEs mm il
103351000910060 o+ FELHF 68.56 GMSCMIHL
103351000915459 T = ELHF 66.09 GMSCM g
103351000907791 2% FELHF 85.20 PAREX
103351000920400 Bk E[Z=3=Ei 84.50 PAFREL
103351000921424 Z* FELHF 82.79 PAREX
103351000915330 5> ELHF! 82.28 PAFREL
103351000910138 K50 FELHF 82.08 PAREX
103351000909162 Fik E[Z=3=Ei 82.02 LSRN
103351000914231 s FELHF 81.99 PAREX
103351000915494 BRI E£HH! 81.70 PAFREL
103351000907077 SE+3H FELHF 81.52 PAREX
103351000910079 (5 E2HE 81.38 PAFREL
103351000909903 e FELHF 81.29 PAREX
103351000913929 F* E[Z=3=Ei 81.12 PAFREL
103351000908111 R FELHF 81.12 PAREX
103351000909448 i E[Z=3=k 80.99 PAFEN
103351000907309 H*$5 FELHF 80.97 IFEY
103351000910313 R E£HF 80.77 PAFEN
103351000909637 £+ FELHF 80.75 PAFEN
103351000917987 i FELHF 80.74 PAFREL
103351000908485 oRk*iE FELHF 80.53 PAFEN
103351000909341 X E£HF! 80.47 PAFEN
103351000914365 [Vt FELHF 80.39 PAFEN
103351000908532 BN E£HF 80.32 PAFEN
103351000909974 FL* E£HF 80.28 PAFEN
103351000910073 oR*s FE£HF 80.18 IFEY
103351000907584 F*F FELHF 80.16 PAFEN
103351000908039 ENT E£HF! 80.00 PAFEN
103351000918107 25 FELHF 79.62 PAFEN
103351000908103 e FELHF 79.56 PAREX
103351000908006 S El==Ei 79.36 PAFEN
103351000918115 ESEE E ==k 79.34 PAFREL
103351000907688 Fijv* E£HF 79.31 PAFEN
103351000909882 [ FELHF 79.31 PAREX
103351000909067 B E£HF 79.28 PAFEN
103351000915551 g FELHF 79.14 PAREX
103351000924395 =X E£HF 78.99 PAFEN
103351000908702 BT EEN=E 78.85 PIFEY
103351000907571 B E£HF 78.63 PAFEN
103351000907877 HE* E ==k 78.59 PAREX
103351000909065 > El==Ei 78.51 PAFEN
103351000920919 F B FELHF 78.12 PAREX
103351000922076 FE El==Ei 77.99 PAFEN
103351000909825 B} E=BH 77.90 PAREX
103351000907420 SE El=S=Ei 77.88 PAFREL
103351000909027 B E ==k 77.85 PAREX
103351000913312 F= El=S=Ei 77.83 PAFREL
103351000909579 B E£HF 77.77 PAREX
103351000908283 X El=S=Ei 77.75 PAFREL
103351000924746 B+ E=BH| 77.70 PAREX
103351000923470 159* El=S=Ei 77.65 PAFREL
103351000924390 XIJ* 4 FELHF 77.58 PAREX
103351000907573 VAl El=S=Ei 77.53 PAFREL
103351000924064 X IE=HE 77.51 HIFEE
103351000907920 HE FE£HF 77.51 PAFREL
103351000910046 RS E£HF 77.49 IFEN




2021 WL KFEMBAE R FENZ B (FEEHF)D

HEIES w4 235 SpkEs mm il
103351000910050 Se* E£HF 77.43 PAREX
103351000907934 Tk ELHF 77.35 PAFEL
103351000915564 IS FELHF 77.25 PAREX
103351000907829 [P E[Z=3=Ei 77.18 PAFREL
103351000926730 Z* FELHF 77.07 PAREX
103351000909228 R E[Z=3=Ei 76.94 PAFREL
103351000909502 2 E£HF 76.93 PAREX
103351000915488 IR E[Z=3=Ei 76.93 PAFREL
103351000924770 NS FELHF 76.91 PAREX
103351000909278 PR+ E£HH! 76.85 PAFREL
103351000907332 = FELHF 76.81 PAREX
103351000908040 P E£HH! 76.80 PAFREL
103351000910376 F & FELHF 76.80 PAREX
103351000915381 F5*BE E[Z=3=Ei 76.78 PAFREL
103351000910266 X E£HF 76.76 PAREX
103351000913324 i ELBE 76.66 PIFEN
103351000908354 Fi2 FELHF 76.61 PAFEN
103351000917441 S IE2HE 76.59 IFEY
103351000907608 g FELHF 76.52 PAFEN
103351000907574 F* E£HF 76.51 PAFREN
103351000907339 ZPH FELHF 76.49 PAFEN
103351000924755 7* E=BF 76.44 PAFEN
103351000908912 B3y FELHF 76.43 PAFEN
103351000916343 BRI E£HF! 76.42 PAFEN
103351000907728 fiB~IE FELHF 76.42 PAFEN
103351000909900 PR E£HF 76.35 PAFEN
103351000908060 e FELHF 76.18 PAFEN
103351000914216 25K EEEY=ED 76.11 PIFEN
103351000913937 2y FELHF 76.08 PAFEN
103351000909818 EE E[=3=E 76.08 PAFREL
103351000909779 i E£HF 76.07 PAFEN
103351000908540 = FELHF 76.03 PAREX
103351000907923 wE*i= E£HF 75.99 PAFEN
103351000907778 AR*E IE2HE 75.92 ISEN
103351000908490 K> El==Ei 75.90 PAFEN
103351000924784 = EEN=E 75.88 HIREX
103351000922319 AB* E£HF 75.81 PAFEN
103351000917516 [E]*IE FELHF 75.74 PAREX
103351000913297 X El==Ei 75.73 PAFEN
103351000918111 gK* FELHF 75.65 PAREX
103351000913333 S El==Ei 75.63 PAFEN
103351000907576 i FELHF 75.63 PAREX
103351000909770 2+ E£HF 75.56 PAFEN
103351000921190 25§ E=BH 75.55 PAFEL
103351000913387 FB7 El=S=Ei 75.54 PAFREL
103351000910233 5+ E=BH| 75.53 PAREX
103351000907437 (G El=S=Ei 75.53 PAFREL
103351000908091 B E ==k 75.45 PAREX
103351000909485 F+H El=S=Ei 75.42 PAFREL
103351000908979 [E*J3 E£HF 75.41 PAREX
103351000916262 g* El=S=Ei 75.41 PAFREL
103351000910237 {a7*H EIEY=ED 75.41 HIFREY
103351000908268 2t B[ ==k 75.37 PAFREL
103351000909358 = E FELHF 75.31 PAREX
103351000907442 > El=S=ki 75.31 PAFREL
103351000907862 T %0 FE£HF 75.30 PAREX




2021 WL KFEMBAE R FENZ B (FEEHF)D

HEIES w4 235 SpkEs mm il
103351000924412 FER* E£HF 75.27 PAREX
103351000916737 [FSES El=3 =k 75.22 PAFEL
103351000924895 XIJ* 88 E£HF 75.21 PAREX
103351000910098 =1 E[Z=3=Ei 75.13 PAFREL
103351000920652 N FELHF 75.10 PAREX
103351000907841 HE*E EENE=E] 75.08 PIFEN
103351000913364 Fi& FELHF 74.98 PAREX
103351000909596 E* E[Z=3=Ei 74.95 PAFREL
103351000908560 k> E£HF 74.93 PAREX
103351000908527 Z* E[Z=3=Ei 74.92 PAFREL
103351000908900 f52* FELHF 74.91 PAREX
103351000918008 B E[Z=3=Ei 74.90 PAFREL
103351000909470 & FELHF 74.89 PAREX
103351000907972 ES E£HH! 74.88 PAFREL
103351000915454 E5K FELHF 74.88 PAREX
103351000924787 [E*= E[Z=3=k 74.81 PAFEN
103351000907482 EPN FELHF 74.80 PAFEN
103351000917438 e E£HF! 74.74 PAFEN
103351000907495 S FELHF 74.73 PAFEN
103351000907900 J*KE FELHF 74.72 PAFREN
103351000907096 B FELHF 74.68 PAFEN
103351000907364 B* E ==k 74.67 PAFEN
103351000909944 B +*BH FELHF 74.60 PAFEN
103351000908978 * E£HF 74.58 PAFEN
103351000914770 e E£HF 74.58 PAFEN
103351000908521 B FELHF 74.53 PAFEN
103351000908445 X, FELHF 74.50 PAFEN
103351000907058 e 2B 74.50 PAFEN
103351000910019 [m FELHF 74.49 PAFEN
103351000910330 KR FE£HF 74.37 PAREX
103351000913300 = El==Ei 74.29 PAFEN
103351000907956 55 E£HF 74.26 PAREX
103351000909511 &> El==Ei 74.26 PAFEN
103351000910094 [RES FE£HF 74.18 PAREX
103351000910375 b33 E£HF 74.10 PAFEN
103351000909436 gK* E£HF 74.10 PAREX
103351000909724 bo s E£HF 74.03 PAFEN
103351000908128 =5 E[=3=E 73.97 PAFREL
103351000914356 3+ E£HF 73.97 PAFEN
103351000907455 B FE FE£HF 73.94 PAREX
103351000907543 &*PH E£HF 73.93 PAFEN
103351000907250 F+4 FELHF 73.92 PAREX
103351000907131 = E£HF 73.91 PAFEN
103351000908228 BN E[ ==L 73.91 PAFEL
103351000908110 A E Y= 73.86 PIFEN
103351000909262 HBE ELBH 73.85 HIREX
103351000920685 i ELHF 73.84 PAFREL
103351000909193 =i FELHF 73.78 PAREX
103351000924691 Z=* El=S=Ei 73.77 PAFREL
103351000907646 28 FE£HF 73.67 PAFEL
103351000915442 2 El=S=Ei 73.60 PAFREL
103351000908452 2+E E=BH| 73.60 PAREX
103351000907563 = B[ ==k 73.58 PAFREL
103351000909858 g* E£HF 73.55 PAREX
103351000907673 =4 El=S=ki 73.53 PAFREL
103351000907713 5 FE£HF 73.50 PAREX




2021 WL KFEMBAE R FENZ B (FEEHF)D

HEIES w4 235 SpkEs mm il
103351000908011 Bt FELHF 73.44 PAREX
103351000909529 = E2HE 73.42 PAFEL
103351000908022 R E£HF 73.39 PAREX
103351000910634 5> E[Z=3=Ei 73.38 PAFREL
103351000909117 i FELHF 73.32 PAREX
103351000907118 Bk E£HH! 73.30 PAFREL
103351000910288 = FELHF 73.29 PAREX
103351000924666 & E£HH! 73.27 PAFREL
103351000924723 = FELHF 73.16 PAREX
103351000924662 G* E[Z=3=Ei 73.09 PAFREL
103351000917451 B FELHF 73.09 PAREX
103351000914701 [F=ST E[Z=3=Ei 73.07 PAFREL
103351000907909 A FELHF 73.05 PAREX
103351000916659 F+5 E£HH! 73.04 PAFREL
103351000907894 = E£HF 73.00 PAREX
103351000907350 e E£HF 72.98 PAFEN
103351000910373 Zx FELHF 72.94 PAFEN
103351000918786 B E E=BF 72.93 PAFEN
103351000918126 gE T FELHF 72.92 PAFEN
103351000915552 o E£HF 72.90 ISEN
103351000907932 F* E£HF 72.88 PAFEN
103351000915495 B FELHF 72.86 PAFEN
103351000907734 EX EN=E 72.83
103351000909790 F5 E£HF 72.82
103351000907735 =] EN=E 72.79
103351000917455 [ES E£HF! 72.79
103351000916911 R EN=E 72.72
103351000907500 2 FELHF 72.71
103351000915531 fag* EN=E 72.68
103351000909923 SK*E8 FE£HF 72.67
103351000909177 e E = 72.66
103351000910129 B E2HE 72.64
103351000907884 %R E = 72.64
103351000918090 RBT FE£HF 72.60
103351000907869 TR E = 72.55
103351000907433 = FELHF 72.48
103351000916647 o> E£HF 72.40
103351000908254 I FE£HF 72.25
103351000908415 F* E = 72.25
103351000916966 = FE£HF 72.24
103351000907191 T E = 72.23
103351000913370 = FELHF 72.18
103351000910257 BT E = 72.15
103351000910369 I FELHF 72.08
103351000916684 KAE E Y= 72.06
103351000907245 B FELHF 72.05
103351000909076 &+ E Y= 72.04
103351000909243 e FELHF 72.02
103351000910584 E3 E Y= 71.96
103351000908835 &> E£HF 71.95
103351000907557 F = E Y= 71.93
103351000909864 SerE FELHF 71.89
103351000921415 KT E Y= 71.85
103351000909031 K2 E£HF 71.82
103351000909311 A El=S=ki 71.82
103351000907772 BXF EEEN=E 71.79




2021 WL KFEMBAE R FENZ B (FEEHF)D

HEIES w4 235 SpkEs et
103351000918504 F* ELBE 71.77
103351000916368 N ELHF 7177
103351000908450 F*5 EEEN=E] 71.76
103351000908446 & E£HH! 71.75
103351000908468 [Fr=5 EEEN=E] 71.73
103351000908363 ok E[Z=3=Ei 71.72
103351000907706 S5 FELHF 71.67
103351000907453 e ELHF! 71.64
103351000909007 A& EEEN=E] 71.62
103351000917554 2N E[Z=3=Ei 71.60
103351000914209 B EEEN=E] 71.59
103351000907567 £ E[Z=3=Ei 71.59
103351000908298 7E FELHF 71.58
103351000907026 X E[Z=3=Ei 71.51
103351000910368 = EEEN=E] 71.50
103351000908501 pag* E£HF 71.46
103351000909592 BB FELHF 71.45
103351000907119 B FELHF 71.45
103351000909898 FpE FELHF 71.42
103351000909961 i+ IE2HE 71.38
103351000907551 B EEN=E] 71.38
103351000908330 E= EEN=E 71.35
103351000908823 a* ELBE 71.30
103351000915614 g FELHF 71.29
103351000908520 23 FELHF 71.23
103351000910201 ER*&H FELHF 71.19
103351000908223 RIC) EEN=E] 71.17
103351000914734 7* FELHF 71.08
103351000909980 F E£HF 71.05
103351000907223 TE FELHF 71.01
103351000907901 2z EEN=E] 70.96
103351000907730 = FELHF 70.86
103351000909730 FE EEN=E] 70.84
103351000908185 i = FELHF 70.80
103351000910583 BT EEN=E] 70.80
103351000910055 5K*fH FELHF 70.79
103351000908329 X EEN=E] 70.77
103351000907926 N+ E£HF 70.73
103351000924693 = EEN=E] 70.72
103351000908222 SRR FELHF 70.70
103351000907580 R El==Ei 70.70
103351000922209 ZEEE FELHF 70.56
103351000907473 X EE EEN=E] 70.55
103351000916967 e FELHF 70.55
103351000907753 e EEN=E 70.42
103351000908511 = FELHF 70.39
103351000924678 E3 EEN=E] 70.25
103351000907717 B FELHF 70.19
103351000918097 F& EEN=E] 70.14
103351000924721 2 FELHF 70.08
103351000909590 [ EEN=E] 69.91
103351000908080 IR E£HF 69.83
103351000909131 2 EEN=E] 69.80
103351000924767 a0 FELHF 69.77
103351000909643 25 EEN=E] 69.66
103351000908968 F*X| EEEN=E 69.65




2021 WL KFEMBAE R FENZ B (FEEHF)D

HEIES w4 235 SpkEs et
103351000909406 2 EEEN=E] 69.64
103351000908597 = El=3 =k 69.62
103351000908644 BE EEEN=E] 69.55
103351000914768 B E£HH! 69.48
103351000915583 =8 EEEN=E] 69.45
103351000908737 AB*tE FE=BF 69.44
103351000920059 7 EEEN=E] 69.43
103351000909811 5 E[Z=3=Ei 69.40
103351000910033 ¥p* EEEN=E] 69.30
103351000917547 B*3E E[Z=3=Ei 69.21
103351000909309 = EEEN=E] 69.18
103351000923855 F* E[Z=3=Ei 69.16
103351000907525 &5 EEEN=E] 69.08
103351000908627 [F= ELHF! 69.07
103351000907405 F*iE EEEN=E] 69.07
103351000908489 =K E[Z=3=k 69.03
103351000908525 = EEN=E] 69.01
103351000909630 Fa EEN=E 69.01
103351000922135 15 EEN=E] 68.99
103351000907705 F 3 FELHF 68.98
103351000916938 = EEN=E] 68.84
103351000915541 A= FELHF 68.80
103351000908676 ] FELHF 68.80
103351000909064 R FELHF 68.68
103351000908381 = EEN=E] 68.61
103351000916660 KR E£HF! 68.47
103351000908705 XI*=F EEN=E] 68.39
103351000910244 & FELHF 68.19
103351000910557 F*Fg EEN=E] 68.01
103351000918113 F5 EEEN=E 67.82
103351000912422 g+ EEN=E] 67.39
103351000907109 = FELHF 67.03
103351000913918 L EEN=E] 66.97
103351000919010 FER*IE E£HF 66.82
103351000908701 ESE EEN=E] 66.80
103351000916388 gzt FE£HF 66.64
103351000907343 PE EEN=E] 66.36
103351000907263 BT FE£HF 66.24
103351000910336 e EEN=E] 66.04




